[image: image1.wmf]
[image: image2.jpg]


[image: image3.png]



[image: image4.png]2 nanometers

9A0018 Jouiw

ar0018 Jofew

Sl9jpwioueu ¢ ¢ = m‘__m& oseq O = wny |



[image: image5.jpg]





Images of DNA
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A single strand of DNA is a long chain of nucleotides, each with one of these four different bases. This strand is represented by a sequence of these individual letters e.g. AGTCTTCAGGT. Usually two strands of nucleotides wrap around each other, giving DNA the appearance of a twisted ladder, called a double helix. The backbone chain of pentose sugar-phosphate links forms the struts (sides) of the ladder and is always on the outside. The rungs (steps) of the ladder are made up of base pairs, which are almost always found connected to each other. In a complete helix, the Adenine (A) always lines up with Thymine (T) and the Guanine (G) with Cytosine (C). In these combinations the different bases fit together perfectly like a lock and key. This is termed the Watson-Crick base-pairing scheme.
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